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DIPLOMA IN ELEMENTARY EDUCATION 
(D.E.L.ED.) 

Term-End Examination, 2019 

BES-001 : UNDERSTANDING THE 
ELEMENTARY SCHOOL CHILD 

Time : 3 Hours] 	 [Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry equal 

weightage. 

1. 	Answer the following question in about 600 words : 

Discuss the barriers in Inclusion of children with special 

needs in a classroom. As a teacher, how can you make 

your classroom inclusive ? 

OR 

Describe theory of Psychosocial development by Erik 

Erikson and discuss its implications for understanding 

Social development of children. 
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2. 	Answer the following question in about 600 words : 

Discuss the issues of children living in difficult contexts. 

As a teacher, how could you facilitate such children ? 

OR 

'Gender is a Social Constrution.' Justify the statement 

with the help of examples. 

3. 	Answer any four of the following questions in about 150 
words each : 

(a) Elaborate on the debates about Development'. 

(b) What are the common problems in Classrooms 

and discuss their implications for Research ? 

(c) What do you understand about the Social 

network in the classroom ? Elaborate. 

(d) How did region, religion and caste contribute to 

Culture and Ethos of a family ? 

(e) What is the role of a Teacher in promoting 

Physical development of children ? 
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(f) 	Explain as to how Inclusive education is different 

from Integrated education. 

4. 	Answer the following question in about 600 words : 

Discuss, with examples, how observation could be used 

as a tool to understand children's engagement in a 

classroom. 
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